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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic
Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and
unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
I each space. Then mark your answer sheet.

Scuba divingis a form ofunderwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving, (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings. or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide, and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) to allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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Part C. Reading Comprehension
Directions: Read the following three passages and choose the best choice (1),

(2), (3), or (4) that best answers each question. Then mark it on your answer
sheet.

Passage 1

Modern architectural conservation has a lot to do with nano and smart materials. It is believed
that the nanotechnology applications for green building have an emphasis on the energy
conservation capabilities. It is set to facilitate or retard chemical reactions, to surface protection
with various functions, e.g. antimicrobial, anti-graffiti. selfc]eaning UV protection, etc. One
important application of nano-materials and technologies is in consolidating or retrofitting
degraded materials. This is exploited in cultural heritage conservation, namely, in
safeguarding quasi-brittle composites and other porous inorganic materials.

Nano-materials are capable of responding to the need to preserve the maximum amount of
the original substance, due to their porous ability. Further, nano-technologies enable the design
and production of agents highly compatible with historic materials, with very high chemical
effectiveness due to their increased surface-to-volume ratio and a higher concentration of
active substances, without side-effects. Nano-materials are used advantageously for
consolidating disintegrated historic materials, materials with cracks and fissures, materials with
complex problems, namely, wet and chemically contaminated materials, or in situations
requiring complex solutions. e.g. combined consolidation and disinfection. Nano-materials are
used for consolidating and strengthening natural stones and mortars. based on Ca (OH) »
BaCO3 and sulphates which are applicable in the case of gypsum substrates.

Why can nano-materials result in eco-friendly architecture?

1) Energy efficiency 2) Self-cleaning

3) Natural substances 4) Brittle safeguarding

In this text, what stands for “the addition of new technology or features to older
systems”?

1) Antimicrobial 2) Safeguarding 3) Retrofitting 4) Anti-graffiti

What is the most important reason for the use of nano-materials to preserve original
substance?

1) Lower price 2) Modern attitude

3) Complicated particles 4) Chemical effectiveness

What does “porous ability” (paragraph 2) stand for?

1) To contemporize a historic monument

2) Ability to penetrate into various and variable penetrable systems

3) To provide (a jet, automobile, computer, or factory, for example) with parts, devices, etc.

4) To modernize a historic monument (by means of an automobile, computer, or factory, for

example)
What is the main rhetorical purpose of the passage?
1) Classification 2) Process description
3) Definition 4) Function Description
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Passage 2

The term “Art Deco™ was popularized in the 1960s and is used to describe a largely decorative
style (roughly 1920-1940) which is characterized by strong geometric forms, striking colors
and graphic sharpness. Named after the Paris Exposition Internatinale des Arts Decoratifset
Industriels Modernes (1925). it was this exhibition that provided the first large-scale showcase
of the decorative arts and architecture in a modern style.Art Deco, on the other hand. combined
the solid geometric shapes thought of that time as decidedly “modern™, but was mellowed with
sculptural ornament, metal work and color.

The exposition highlighted Paris as the center of Art Deco style. The grand Art Deco
entrance to the Exposition. the ‘Porte d’Honneur’. with extensive decorative metalwork by
Edgar Brandt, blatantly announced it to the world. Within Robert Mallet Steven’s ‘Pavilion du
Tourisme® personified the more Modernist tendencies of Art Moderne whereas the furniture
designer’s Emile- Jacques Ruhlmann’s ‘Hotel d’un Collectinneur’, designed by the architect
Pierre Patout, displayed a more restrained classical form of Art Deco. However, the Exposition
by its very nature was not only international—pavilions representing many countries betrayed
modern sentiments—but also temporary.In the years following the Exposition, commercial Art
Moderne or Art Deco. appeared throughout Europe and the United States. In France itself, Art
Deco is distinct for its restrained reductivist facades. lightened with floral and figurative
ironwork and sculpture.

In Britain the two styles were used frequently for the many hundreds of cinemas that were
sprouting up throughout the country; the fagade of the Leicester Square Odeon in London is a
particularly fine example of Art Moderne and is sheathed in shiny black cladding. London
Underground, which underwent an extensive expansion in the 1920s and 1930s, built many
stations in a much more understated Modernist Art Moderne.

Which of the following is NOT a most important characteristic of “Art Deco” style?

1) Inconsequential colors 2) Vigorous geometric forms

3) Graphic sharpness 4) Largely decorative

Which year could be recognized as the actual true beginning of “Art Deco”?
1) 1960 2) 1907 3) 1925 4) 1920

What is the specification of reductivist facades in France?

1) Sheathed in shiny black cladding

2) A large-scale showcase of the decorative arts

3) Decorated with extensive decorative metalwork

4) Lightened with floral and figurative ironwork and sculpture

What is the best example of Art Moderne in London and its specification?
1) Aacade of the Leicester Square Odeon sheathed in shiny black cladding
2) Fagade of the Leicester Square Odeon lightened with floral ironwork

3) London Underground sheathed in shiny black cladding

4) London Underground lightened with floral ironwork

Which one is the main representative of Art Deco in France?

1) Sculptural ornaments 2) Reductivist facades

3) Strong geometric forms 4) Metalworks
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Passage 3

High Tech architecture has been described as the second machine aesthetic by architectural
critic Charles Jencks. And while many high tech buildings owe a great deal more to the futurist
visions of the 1960s ‘pop’ architecture group Archigram. which put forward plans for walking
and ‘plug-in’ cities, the movement was foreshadowed by almost 100 years by the Eiffel Tower
in Paris. For the ideas behind the Eiffel Tower (which caused a storm of protest in its day) and
a high tech building such as the Pompidou Centre (another Parisian building to cause a storm),
are patently similar. In both structures the skeleton of the building is on display, both are
celebrations of technology.

That does not mean to say that the technology used is necessarily more advanced than that
used in any other recent architectural movement, just that it is put on display and used to give
the building a framework and character. In nearly all high tech architecture this framework is
deliberately designed to be flexible, so that the building can be either added to or reduced. For
example, Norman Foster’s Renault building in Swindon (1982) consists of an aluminum-
skinned series of canopies made up of yellow steel masts with cables extending out to struts.
The whole structure can be dismantled or added on.

Placing the services on the external shell makes maintenance easier and high tech buildings
are in the main designed to be cheap, easy and quick to construct. This practicality is also
obvious in such buildings as the Inmos Factory in Gwent by Richard Rogers (1982). The High
Tech style was particularly appropriate for such an advanced technology industry. Rogers’
tent-like structure, with its central raised spine and masts from which come cables supporting
steel trusses, is echoed in Michael Hopkins® 1984 Schlumberger Research Institute in
Cambridge, which in the words of British architect Eva Jiricna is ‘like a big top’.

One of the most recently opened High Tech buildings is by Richard Rogers. It is the
Lloyd’s Building in London (1978-86). Although in the heart of the city. it doesn’t attempt to
blend in with any of the surrounding buildings but instead stands out with its “inside out’
construction. Rogers has put all the services into Towers which surround, but are separated
from the main building with its
central atrium.

How is the technology used in high tech buildings?

1) It detracts from the character of the buildings.

2) It gives the building a framework and character.

3) It is inspired by the technology of recent architectural movements.

4) It is more advanced than the technology of recent architectural movements.
What is the main point in nearly all high tech architecture?

1) Their flexible framework 2) Their high technology
3) Their special character 4) Their skeleton

Who is the architect of Shlumberger Research Institute?

1) Renzo Piano 2) Richard Rogers

3) Michael Hopkins 4) Charles Jencks

According to the passage, what is significant about the Lloyd’s Building?

1) Putting all the services into Towers which surround it

2) Its blending in with its surroundings

3) Its inside out construction

4) Its central atrium

What do the Eiffel Tower and the Pompidou Centre have in common?

1) They both have color coding. 2) They have inside out construction.
3) They both have big atriums. 4) Their skeleton is on display.
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